TANK
Prog 7 :

"TANK"




r+4CARSPECIAUX 174 \f "Symbol"M


Mcl





f1CARSPECIAUX 174 \f "Symbol"N


"  SUR LA TERRE=1"


P=1CARSPECIAUX 222 \f "Symbol"Goto 5


"  SUR LA LUNE=2"


180-UCARSPECIAUX 174 \f "Symbol"U


?CARSPECIAUX 174 \f "Symbol"D





CARSPECIAUX 113 \f "Symbol"+1CARSPECIAUX 174 \f "Symbol"M


D>2CARSPECIAUX 222 \f "Symbol"2CARSPECIAUX 174 \f "Symbol"D




f2CARSPECIAUX 174 \f "Symbol"N


D<1CARSPECIAUX 222 \f "Symbol"1CARSPECIAUX 174 \f "Symbol"D




Lbl 5


D=1CARSPECIAUX 222 \f "Symbol"9.8CARSPECIAUX 174 \f "Symbol"S




3/VCARSPECIAUX 174 \f "Symbol"T


D=2CARSPECIAUX 222 \f "Symbol"1.6CARSPECIAUX 174 \f "Symbol"S




Lbl 6


7.92CARSPECIAUX 174 \f "Symbol"O




M+TVcos U+TWCARSPECIAUX 174 \f "Symbol"X


1+8Int (5Ran#CARSPECIAUX 174 \f "Symbol"r



N+4+TVsin U-ST²/2CARSPECIAUX 174 \f "Symbol"Y


89-8Int (5Ran#CARSPECIAUX 174 \f "Symbol"

CARSPECIAUX 113 \f "Symbol"



Plot X,Y


Lbl 0





T+3/VCARSPECIAUX 174 \f "Symbol"T


32Ran#+1CARSPECIAUX 174 \f "Symbol"A[Z]



XCARSPECIAUX 179 \f "Symbol"rCARSPECIAUX 222 \f "Symbol"X<r+5CARSPECIAUX 222 \f "Symbol"YCARSPECIAUX 163 \f "Symbol"f1+3CARSPECIAUX 222 \f "Symbol"YCARSPECIAUX 179 \f "Symbol"f3CARSPECIAUX 222 \f "Symbol"2CARSPECIAUX 174 \f "Symbol"Q


Isz Z





X<CARSPECIAUX 113 \f "Symbol"+5CARSPECIAUX 222 \f "Symbol"XCARSPECIAUX 179 \f "Symbol"

CARSPECIAUX 113 \f "Symbol"

CARSPECIAUX 222 \f "Symbol"YCARSPECIAUX 163 \f "Symbol"f2+3CARSPECIAUX 222 \f "Symbol"YCARSPECIAUX 179 \f "Symbol"f3CARSPECIAUX 222 \f "Symbol"1CARSPECIAUX 174 \f "Symbol"Q


Z<12CARSPECIAUX 222 \f "Symbol"Goto 0



Q>0CARSPECIAUX 222 \f "Symbol"Goto 9


"MODE (0-1)"?CARSPECIAUX 174 \f "Symbol"R



Y>f3CARSPECIAUX 222 \f "Symbol"XCARSPECIAUX 179 \f "Symbol"1CARSPECIAUX 222 \f "Symbol"XCARSPECIAUX 163 \f "Symbol"95CARSPECIAUX 222 \f "Symbol"Goto 6


Lbl 1





X<1CARSPECIAUX 222 \f "Symbol"Goto 1


Range 1,95,0,1,63,0


X>95CARSPECIAUX 222 \f "Symbol"Goto 1


Graph Y<f3




X/OCARSPECIAUX 174 \f "Symbol"Z


R=1CARSPECIAUX 222 \f "Symbol"Graph Y>f3



A[Z]-5CARSPECIAUX 174 \f "Symbol"A[Z]


6Ran#+1-6Ran#+1CARSPECIAUX 174 \f "Symbol"W


Goto 1


Plot 48,62




Lbl 9


Plot 48+5W,62:Line



Plot X+3,Y+3


-Abs W/WCARSPECIAUX 174 \f "Symbol"Z



Plot X+3,Y+3:Line


Plot 48+5W+Z,63



Plot X-6,Y-3


Plot 48+5W+Z,61



Plot X,Y+3:Line


Plot r+1,1+f1




Plot X-3,Y-3


Plot X+3,Y:Line



Plot X-3,Y+3:Line@

Plot X+1,Y+1




"  "


Plot X-5,Y:Line



Q=1CARSPECIAUX 222 \f "Symbol""JOUEUR 1"


Plot X+4,Y+2:Line



Q=2CARSPECIAUX 222 \f "Symbol""JOUEUR 2"


Plot CARSPECIAUX 113 \f "Symbol"+1,1+f2



"A GAGNE!"


Plot X+3,Y:Line



Range -4.7,4.7,1,-3.1,3.1,1


Plot X-4,Y+1




Mcl


Plot X+5,Y:Line



Cls


Plot X-4,Y+2:Line@

"  "


Isz P




functions à mettre : (shift+0+Sto+nombre)


P=3CARSPECIAUX 222 \f "Symbol"1CARSPECIAUX 174 \f "Symbol"P




f1: A[r/O


P=1CARSPECIAUX 222 \f "Symbol""JOUEUR 1:"



f2: A[CARSPECIAUX 113 \f "Symbol"/O


P=2CARSPECIAUX 222 \f "Symbol""JOUEUR 2:"



f3: A[X/O


"  "


"ANGLE (0CARSPECIAUX 174 \f "Symbol"90)"?CARSPECIAUX 174 \f "Symbol"U


"FORCE (1CARSPECIAUX 174 \f "Symbol"40)"?CARSPECIAUX 174 \f "Symbol"V


V>40CARSPECIAUX 222 \f "Symbol"40CARSPECIAUX 174 \f "Symbol"V



(CARSPECIAUX 196 \f "Wingdings")

